30 03 30

G )
11,201 | 1,221 | 0| 0| 0
H30 R2 R4
80 83
x 100
21 7
% 100
60 100
% 100
100 100
9% x 100
100 100

x 100




H30 |H31 [R02 [RO3 [RO4

A01-001 L=0.66km u 30
A01-002 L=0.45km LI I 179
A01-003 L=0.43km u 108
A01-004 L=0.54km [ I B B BN 424
A01-005 L=0.21km [ I 169
A01-006 L=0.07km [ I B A B | 52




H30 |H31 [R02 [RO3 [RO4

A01-007 L=0.26km LI B 451
A01-008 L=0.18km L I B B BN 123
A01-009 L=0.43km L I B B BN 240
A01-010 L=0.16km u 63
A01-011 L=1.17km "= 86
A01-012 L=0.16km [ I B 113




H30 |H31 [R02 [RO3 [RO4

A01-013 L=0.10km [ D B B 323

A01-014 L=0.35km [ B BN A B ] 585

A01-015 L=0.20km | B B 743

A01-016 L=1. | B B 1,402
45km

A01-017 L=1. | B B 1,925
92km

A01-018 L=1.54km | B ] 84




H30 |H31 [R02 [RO3 [RO4

A01-019 L=0.73km L I B B BN 2,812 (2.1
A01-020 L=0.48km u 10
A01-021 L=0.28km u 10
A01-022 L=2.34km u 5
A01-023 L=0.72km u 50
A01-024 L=0.15km u 607




H30 |H31 [R02 [RO3 [RO4

A01-025 L=29.25km n n n [ n 411
A01-026 2785 L=0.21km n n 50
A01-027 L=0.60km n n [ 100
A01-028 134 n 45
A01-029 L=2.81 n 21

[T T [ wal

11,221|




H30 H31 RO2 RO3
() 1,253 1,289 1,249 663
(b) 0 0 0 0
(c=atb) 1,253 1,289 1,249 663
(d) 265 581 592 519
e) 937 1,278 1,322 885
) 581 592 519 297
@ 506 445 145 152
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 33.33 23.79 7.87 12.85
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